o Produce,
.~°§
&

iy TaV-JEBBESANI OIS A
e R EEAY 25T T ISR
S1TMIRIZEEE (EPD) BT RDREAE2-2-1
HixgE= : JR-AI-21111E https://ecoleaf-label.jp

Compact Color Inkjet All-in—One

at your side MFC-J45955DW

IS5 —T ¥R &%t / BROTHER INDUSTRIES, LTD.

B o

—

REIREEE
hitps:/iecoleat-label.jp/

| S ‘
BHEH{I SRES JR-AI-21111E
JEAPCRES PA-590000-AI-03
Hm1EaHEH
PCR% BERA L HEEE [(5535R])
BENSRELRE NEIS 202241814H
m RHREA CIFRRARA REESEE 20214128248
[RAARL AEFE . (EF. R wEEA S RAFLFREEAT
R, &, E, EA. BEEERE REES IV-AI-21111E
A : MFC-J5955DW wEIB#HARE 20265128238
-ESRZATPISI) (h3-1DAR) PCRLE1—DEHE
-AAREE : 19.1kg. BEAM : 3.4kg REEZ% 201941188H
ERAAEYAX (BRA215.9%297mm) FEER IF B2
-Super G3xti% (— R EEA B R T TR EHEE )
- BENmEENRIt%EE BEEIREE*
- BHR/EERLAN NEPIREEE Ak B
XARMIICKARIFTT
EuLabhtk ISO14025(CHE D TeAB ERUT —F DI UTZAREE
IIY-T#lhRa QIR ENI LS CraED m 515D
TEL: 052-824-2511 (fAX) FAX: 052-821-5177 *S 25 SR AR B EANORIIDES ([}, S RF ARIET>

EEEE DRI Z L.

EixES : JR-AI-21111E

https://www.brother.co.jp/




Ia9Y-J

NRRRER

SATMRIEES
BRES © JR-AI-21111E

(EPD)

IJV-JHRIESANIDIS A
—MRAEEAT T T T IVREREEE
FRETFRABXFREH2-2-1
httos://ecoleaf-label.jp

OS54 TYA VIV EFliRER

0% 20% 40% 60% 80% 100%
SARZH) IPCC 2013 GWP 100a 280 kg-COZeq
[iv4cZld 0.16 | kg-SO2eq
BRHE 0.011 | kg-Sbeq 6
= DFAHE = QL% = O = OEA-HHEE = ORE- Y1)
PIER B BH{3] &it OFRMBRE| QEE M |omm - wsmm|oms- usron
SURZEE) IPCC 2013 GWP 100a| kg-COzeq | 2.8E+02 1.4E+02 1.5E+01 1.6E+01 6.5E+01 | 4.3E+01
ER4A4L, kg-S0,eq 1.6E-01 9.4E-02 1.8E-03 3.0E-02 1.4E-02 1.8E-02
BFHE kg-Sbeq 1.1E-02 9.9E-03 4.1E-05 6.6E-05 8.7E-04 5.0E-06
9 i B i) A2 F/ i e hY )

] = | =<1y ] = | =<1y
IEB4ATIREER 1.0E+01 kg EnEd 3.7E+00 kg
IEFETEETRILFT— 9.8E+01 kg SuUsS 8.6E-02 kg
BAOEEER 2.9E+01 kg FIL=Z"J 1.8E-02 kg
BATRETRILF— 2.3E+02 MJ ZOMhEE 5.6E-06 kg
WIKDEE 2.4E-01 m3 TSRAFwvY 1.4E+01 kg

N 5.9E-02 kg
SR 7.1E-01 kg
K- K 2.3E+00 kg
REORENR 6.0E-01 kg
At 1.2E+00 kg




IaJ->7 IJV-JBIESAINI 0I5 A

e — A EEAT 2T T AR
A4TMIRIESE (EPD) SRS THROREEE2-2-1
ZixEs . JR-AI-21111E https://ecoleaf-label.jp

OBERRCEAYT ENMFHR

ERREDOREESZE (2FUA)
Jr o=V (ESRIAHE)  BEERERE 58, XRME : £48,0001%
BHAERER/(F—> : ITUT No.1Fv— b, FIRIAEIKEIRIBEEHE (CE R, AR R(SICREET

©-1.TDMDIRIEEIERH
ARBOMBITERE EEBEPRD > IRUNY REGE(FISO14001FEEHR TIHICTITODNTLET,

DERAUVE=ZRT—HIDEZS
IDEA v2.1.3 RUTOU—JEEBESAILIOTS ABRFEEA v1.10 ZEFERUE.

®fF5

0 —YETEDFEFE. PCREKLUETRE - ESMIEZSRBLTIIZE,
OLLE(CDWTIE. BXE - EEMECHRESNZRGZE/BIZUILBECUNMRHESNER A,
(ZB85EURL : https://ecoleaf-label.jp/regulation/)
EiES 0 JR-AI-21111E



